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(Chemical kinetics)

NAME OF THE STUDENT:- DATE:-

Q.1.

Q.2.

Q.3.

INSTRUCTION — ATTEMPT ALL QUESTIONS

For the chemical reaction,
N2 + 3Hyg = 2NH; the correct options is

d(Hy] _, dINH]

(a) 3
dt dt
1d[Hy]  1d[NH;]
(b) 2 dt
it .
J?Nzl d[NH; |
©) - —f—=2 —r—

dINz] 1 d[NH3]

d
@ dt 2 i

The rate of the reaction : 2N,05 — 4NO, + O, can be written in three ways.

—d [NOy | alo;] '
= k[N, 0s] Tz = K'[N; Os]; d—: = k"[N; 0s]

—d [N, 0s]
dt

The relationship between k and k' and between k and k “ are
(@) K =2k, K=k (b) k" =2k, K" = k/2
(c) k" =2k, k" =2k (d) k' =k, k" =

For the reaction N,O5g = 2NO, (g + 1/20,(,) the value of rate of disappearance of N,Os is
given as 6.25 x 10® mol L™s™. The rate of formation of NO, and O, is given respectively as:

(@) 6.25 X 10° mol L*s* and 6.25 x 10 mol L™s™
(b) 1.25 x 10° mol L*s* and 3.125 x 10° mol L™s™
(c) 6.25 x 10° mol L*s*and 3.125 x 10® mol L™s™

(d) 1.25 x 10° mol L"s™ and 6.25 x 10° mol L™s™
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Q.4.  For the reaction, N, + 3H, = 2NH;, if d[ng] =2 % 10" mol L''s?, the value of% would be
(a) 4 x 10" mol L™s™ (b) 6 X 10*mol L''s™*
()1 x 10*mol L''s™ (d)3 x 10*mol L''s™

Q.5. In the reaction
BrO  +5Br +G6H' 3Br +3HO

3 () Grg) Ginp) 2() 20

The rate of appearance of bromine (Br,) is related to rate of disappearance of bromide ions

as
dBr,]  5d[Br-] .. dBrs] 5d[Br
o ] SdBr] By SdBr]
dt 3 dt dt 3 dt
(c) JIBI'zl 341[8[‘ ] (f[&'g] 3dlBr ]

it 5 at @ —4—" 5

Q.6. Consider the reaction :
Nag * 3Ha(g) = 2NHjz

The equality relationship between

d
[NH; ] S d[Hy ] is
dt dt
t{lNH3l ({lel
(a)
d dt dt
by [NHl  1d[H,]
dt 3 dt
_ dINHgl  2d[H,]
©+ =4 =" 3

d[NHs] 3 d[H;]

(d) + =—
dt 2 dt

Q.7. Forthereaction, 2A + B — 3C + D, which of the following does not express the reaction rate?

_dia] _dic) _dis) i)
(a) 2dt (b) 3dt (c) dt (d) dt
Q.8. 3A . 2B, rate of reaction %[tm is equal to
_ 3d[4] _2d[4] _ 1d[A] d[A]
(a) 2dt (b) 3dt (c) 3dt (d) +2 dt
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Q.9.

Q.10.

For the reaction
H* + BrO; + 3Br'----5Br, + H,0

which of the following relations correctly represents the consumption and formation of

products?
R e R e

For the reaction Hy + |5 2H(g), the rate of reaction is expressed as

A[H,) 14[L]  AlHI]

() ——=
Al 2A1L Al
Al Al 2 At
AlL A|Hy | A[HI
© —== | | alH]
At At 2At

(d) none of these.
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